Geometry 1.2

L2 WSH-

(

1.

£
&

I3
¥

—

B " o E

oo cenl el

2

J'& S & b B S

e

b A

zp!;
f

@

m’
T
B ~

-+ L5 <« E

o

O]
(

Name

Geometry Worksheet

“raph the figure and its image on the coordinate plane using the vertices provided. After you have graphed the
.ansformation, describe the type of transformation that has been created.

Original Image

A (0, 0) A (-4, 0)
g B (3, 3) B’ (-3, 1)

C (6, 3) G2, 1)

D (8, -3) D' (-2, -1)

E (3, -3) E (-3, -1)

[
Transformation Type: ] BANSLATION | N |LATION

) Is the transformation Isometric? Why or why not?

No - LoTSmaAaLL &g

Original Image
M (-6, 2) M' (2, -1)
; N (-4, 6) N' (4, 3) Transformation Type:mﬂ SLATION
0 0 (-2, 5) O’ (6, 2)
P (-3, 2) P' (5, -1)

Is the transformation Isometric? \/25

Write the rule for the transformatlon in coordinate notation:
(¥ w) = (x +§, s 3)

Original Image

X (-4, 2) @, 42)
Y (-3, 3) Y’ (3, -3)
Z(-2, 1) z (2, -1)

(]
Transformation Type: ?ofﬂ noN (/ §6 pRoLT O&f-;fu)
Is the transformation Isometric? Why or why not?
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A - F\ ] Original Image
: / 4 \ Cc{4 2) C (4, 2)
S/ ERNFER A (2. 6) A (2, 6)
¥ k I n T1,-2y T A,-2) ( N
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1 \\\ ‘ | Transformation Type: _EFLCCWW oNER y A KNS
ol 5 fwﬁ AN F Is the transformation Isometrie? Why or why not?
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5. Find the vertices and graph the triangle reflected 6. Find the vertices and graph the figure reflected
about the x-axis. about the y-axis. l
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Write the rule in coordinate notation; Write the rule injcoordinate notation:
(% 4) »(%, =) (40> (-, 4 )
\- 7 o | T
7. Find the vertices and graph the figured reflected 8. Reflect the following triangle over y = -2.
about the y-axis. Then translate it 5 units right and 3 up.
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9. Translate the figure 2 units left and 3 units up 10. Translate the original coordinates 4 units up and
2 units left
( M(1,-3), 01, -1), #(5,-1), B4, -4)
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Write the rule in coordinate notation: Write the rule in coordinate notation:

6(@ = (%-2,443) &,g)-be—Z,g)H‘)



